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SECOND PUBLIC EXAMINATION

Honour School of Physics Part B: 3 and 4 Year Courses

Honour School of Physics and Philosophy Part B

B3: V. GENERAL RELATIVITY AND COSMOLOGY

TRINITY TERM 2013

Saturday, 15 June, 9.30 am — 11.30 am

Answer two questions.

Start the answer to each question in a fresh book.

A list of physical constants and conversion factors accompanies this paper.

The numbers in the margin indicate the weight that the Fxaminers expect to
assign to each part of the question.

Do NOT turn over until told that you may do so.



1. In a universe with a null cosmological constant, consider the space-time metric
) Y
ds®> = —c? (1 + 22> dt? + (1 — 22> (da? + dy? + dz?) |
c c
where ® and W are functions of t and 7 = (z, y, z), and assume throughout that ®/c? < 1

and ¥/c? < 1. If (29, 2!, 22, 23)=(ct, =, y, z), show that the connection coefficients
for this space-time are
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0 0 0 0 0
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Write down the energy-momentum tensor for a pressureless, perfect fluid (in its
own rest frame) and show that 70 = —pc? and Tij = 0. Then calculate the Ricci tensor

Ryp = 0,I"5, — 95T, + TV, 15 —T" T¢,,

and Ricci scalar for this space-time.

Show that the Einstein equations with such an energy-momentum tensor are
0 2
G 0o = —*V U = —ch s

7 1 1 i %
¢y = 5 203001} + VH(® — W)§; + 0'0;(¥ — @) =0,

where V2 = 970; is the spatial Laplacian.

Write down the geodesic equation for a massive particle in this metric. What
further approximation do you have to make in order that the spatial part of the geodesic
equation becomes equivalent to

2r
= Vo
iz =Y

Under what conditions do the Einstein equations you derived above give the Newton-
Poisson equation for empty space?
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2. If f is a scalar, V# a vector and V, is the covariant derivative, prove that

(VaVs—VsVa)f = 0,
(VaVs = VVa)VH = R*, VY,

where the Riemann tensor is

R‘uya,B = 8‘11—‘”&/ - 8/31—1”041/ + Fuaer€uﬁ - Fueﬁreua :

[7]
Given a vector potential, A, explain briefly why we define the Faraday tensor
and Maxwell’s equations in any space-time to be
F. = VA -V,A,,
VHF}J,V = 7,“0‘]1/ s
where J, is the 4-current density. Show that, if V#A, = 0, then the vector potential
satisfies
VIV, A, — R* JAq = =0y -
[7]
Now consider the metric
ds* = a*(n) {—CQdUQ + da? + dy? + d2?|
where a(n) = —1/n and —oo < 1 < 0. Show that the connection coefficients for this
theory, where (20, 2!, 2%, 23) = (en, z,y, 2) and o’ = dpa, are
0 a’ 0 0 a’
Moy = )’ =0, Fij:gdijv
k k a’ k
[4]
Consider a scalar field that satisfies the equation
VIV, =0
on this space-time. Show that a solution of this equation can take the form
(n,7) = [A+ Bn] exp(—iclkln + ik - 7) ,
where A and B are constants and k is a constant vector with k|? = k- k. Find the
relationship between A and B. [7]
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3. Consider a homogenous and isotropic universe with scale factor a(t) satisfying the
Friedman-Robertson-Walker (FRW) equation

(d)Z_SwG( + ),kﬁ
a — 3 PM PR CL2 5

where pyp is the energy density in dust and pg is the energy density of radiation. Show
how py and pr depend on a. Re-express the FRW equation in terms of the fractional
energy density in dust today, o, and in radiation today, Qg o . If we define conformal
time, 7, through dt = adn, show that for kK = 0 the scale factor is given by

1
a(n) = \/@,o(ﬂoﬁ) + ZQM,O(HOU)Q ,

where ag = 1.

Find an expression for the conformal time at dust-radiation equality, 7eq, in terms
of QM,O, QR,O and Ho.

From now on consider a universe with no radiation and with & > 0. Show that
the FRW equation can be solved by

A .
t = 50373 []{1/2077—8111(]{1/2077)] ,

and find the value of the constant A. Find an expression for the fractional energy
density as a function of time, Qy(n), and the Hubble constant as a function of time,
H(n), and plot them as functions of time.

Find an expression for the maximum scale factor, amax, in terms of €y, and for
the lifetime of such a universe, tji, in terms of Q9 and Hy. Find an expression for
the deceleration parameter, qo, in terms of {21 9. Do cosmological observations support
this kind of behaviour in our Universe?
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4. Consider a homogeneous and isotropic universe with flat geometry, whose only
content is a homogeneous scalar field, ¢(t), with energy density and pressure given by

L,

po= ¢V,
L.

P = 5()02_‘/(90)7

where V() = Voexp(—A3f-), ¢ = d—f, Vo and X are real constants, Mp; = (87G)~1/2,
and throughout this question we will take ¢ = 1 . The scalar field obeys the equation

of motion

; a . Vo ®
+3-p —A—exp(—A——) =0,
B3 - A ( MPI)

and the Friedman-Robertson-Walker equation is

@’ 881G

Z 27, 1

3= g P (1)
Show that if Vy = 0, the scalar field has an equation of state parameter w = P/p =1,
and find out how p depends on a.

Now take Vj # 0 and show that a(t) = P and ¢ = BMp)In(t/tp) are solutions to
the Friedman-Robertson-Walker and the scalar field evolution equations with p = 2/)?
and, if A < v/6, find expressions for B and ¢y in terms of \, Vp and Mpy.

Find an expression for the equation of state parameter, w, and the deceleration
parameter, qg, as a function of \. Is it possible to have w < —17 For what values of A
is the particle horizon infinite? For these values of A, find an expression for the event
horizon and the age of the universe in terms of the Hubble constant, Hy, and A.

Now consider instead a flat universe filled with a perfect fluid with completely
arbitrary, constant w. Find a general, exact expression for the luminosity distance
Dy(2) as a function of redshift. Expand Dp,(z) to 2! order in z; using this expression,
or otherwise, find an expression for the deceleration parameter, gg. Show that, when
w < —1, the scale factor will blow up, i.e. a — oo, in a finite time.
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